L=5112

856 1100 1100 856
.§ T T T

Lie |

89 |
a

5
S
IQI
n D=3026 a L=5112 K =
89 D1=0937. 5 F ﬁUL’ T WERTER
- tEavy - rEEER
— i ‘J@ BIER (B3 >Y U= hoED)
- : 1l Elalez oG it 71 (KN/ ) 7 (/)
1 Lﬁ = ) ) % 50 100 % 50 100
I ° I ab[ e [a-b] e [a-b] e [a-b[ e |a-b] e [a-b] e
13 10 30 | 51 | 1170 | 300 | 1030 | 300 | 930 | 300 | 700 | 30 | 540 | 270 | 540 | 270
Sidsss =ETE
I S88 535 @
SR S8
- 2 D I - =
= / 7 7 7 g S
/ / / /
el | b | 1 b | b Lel Lo | @
a 856 1100 1100 856 a @
BIEROHA tEavy - b EREROSE
TEES HHEE %% B a|® =k B

wREA K3 "!l‘l‘
23 I

Bz BERE  ToL—va FIRST AEIREDR & g a| BLEE
B 1500547 Blkty b ATHAY BE 50 | ] JesF-coo ® A1

\:ﬂ

b




